T8 FEEAABERES RUFRE) B3R EHRERVCERHEHERE

1. BIE#BE

2. BIEXZREAR

5, 898 A

3. AIE X REAR D B A MR T L E0.12mSvE RN =21 fE

FER28F11H9B OK) Mo FERM295F1A178 (K) D70BTFHE

21K I E B FHHEHE
e 1E (mSv) 0.20 1.04
=IE{E (mSv) 0.01Ki 0.05 i
EHE (mSv) 0.0415 0216
FIMMBAIEHERS A
FREHEEE 0.05~ 0.52~ 1.04~ 1.56~ 2.09~
mSv 0.01Ki 0.01~0.09/ 0.10~0.19| 0.20~0.29 | 0.30~0.39| 0.40LLE &5t
A 117 5,685 95 1 0 0 5,898
= 1.98% 96.39% 1.61% 0.02% 0.00% 0.00% 100%
6,000
5,000
4,000
3.000
2.000 = A
1.000
0 T T T 1
0.01F&HE 001~009 0.10~0.19 0.20~029 030~0.39 0.40Ll_E
(B2 FREHEHE)
mSv 1mSvEk i 1mSvEl E2mSvEk i 2mSvil E A&t
AN 5,897 1 0 5,898
& 99.98% 0.02% 0.00% 100.00%




